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1. Run at speed to the far end of the arena past the end
marker and do a left rollback - no hesitation.

2. Run to the opposite end of the arena past the end marker
and do a right rollback - no hesitation.

3. Run past the center marker and do a sliding stop. Back up
to the center of the arena or at least ten feet (three meters).
Hesitate.

4. Complete four spins to the right. Hesitate.

5. Complete four and one-quarter spins to the left so that
horse is facing left wall or fence. Hesitate.

6. Beginning on the right lead, complete three circles to the
right: the first two circles large fast; the third circle small and
slow. Change leads at the center of the arena.

7. Complete three circles to the left: the first two circles large
fast; the third circle small and slow. Change leads at the
center of the arena.

8. Begin a large fast circle to the right but do not close this
circle. Run straight down the right side of the arena past the
center marker and do a sliding stop at least twenty feet (six
meters) from the wall or fence. Hesitate to demonstrate
completion of the pattern.

Czech

1. Cvalem ke vzdalenému konci arény, az minete posledni
znacku udélejte levy rollback, bez vydrze.

2. Cvalem k opa¢nému konci arény, az minete posledni
znacku udélejte pravy rollback, bez vydrze.

3. Cvalem zpét, az minete stfedovou znacku udélejte sliding
stop. Zacouvejte na stfed arény nebo alespori 3 m. Vydrz.

4. Udélejte Ctyfi spiny vpravo. Vydrz.

5. Udélejte &tyfi a ¢tvrt spinu vlevo tak, aby kan stal ¢elem k
levé sténé. Vydrz.

6. Zahajeni cvalem na pravou nohu, dokoncete tfi kruhy
vpravo: prvni dva velké a rychlé, tfeti maly a pomaly.
Preskok (letmy) ve stfedu arény.

7. Dokoncete tfi kruhy vievo: prvni dva velké a rychlé, treti
maly a pomaly. Pfeskok (letmy) ve stfedu arény.

8. Zacnéte velky rychly pravy kruh na pravou nohu, ale
neuzavirejte jej. Cvalem rovné podél pravé stény arény, az
minete stfedovou znacku udélejte sliding stop ve vzdalenosti
minimalné 6 m od stény. Vydrz demonstrujici ukon€eni ulohy.

Jezdec musi ukazat pfisluSnému rozhod¢imu uzdéni.
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